mEEM/—k

i S AR

1. BRE=
2. &=
3. HEFEHET@ism
(MR E= (BERES)
(2)7oh—RILk
O#BAHK
@Y A X etk

EZ2(7oh—RILE,

RXKHAE I OBERNI= YL
PDFY—P45M—G

O ALY QEMFEE (FFEICLDHITETE)

GEMELIVERELETOSS
(OREFTBDAHRANDH=RILER />
GBYRETIARMM DAL RN DHEB B LETOIER

(RERAKERE
(2)FFtRRERE
(R)RETRKTHES
(4)EREtRREE N
BYF U h—RILED5IHRA

(BYF v Hh—HRILEDE AR

(DT7oh—HRILNZET BB NE

DBIRBAE
QB AMISHE
QBlREBFAME

B)YF U h—HRILEDIET %

D7 h—RIL DI
@avy—tnES
QRILLDIEARS

SEH A FREKN=20)

w= 32

N= 4

M= 10

A= 78

OWBREEZEEZHEDSIRYERTDAEIOT U H—RILEORAE Nt= 2
Hg= 148

L= 670

Lg= 285
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Kh= 20

Kv=Kh/ 2= 1.0
Fh=Kh-W-9.8= 627.2
Fv=Kv-W-9.8= 3136

ooo FheHe+(W-9.8+Fv) (L-Le)

LNt = 2495
b)) Q=Fh/N= 156.8
0=Rb/A= 32

T=Q/A= 20
FEFIZR(T5154E fts=14ft—1.6 7 = 2437
o= 32 MPa < fts= 243.7
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= 150

= 110
Ta= 3528
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78X10° m?
mm = 0.148 m
mm = 0.67 m

mm(LgSL.2)= 0.285

MPa<ft=176.4MPa

MPa<fs=132.3MPa

MPa
MPa
mm = 0.15 m
mm = 0.11 m
N > Rb= 2495
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